to1 fib num?2
(TMJLuk5tLRjZw6 KMh5MgZVmQwu58zREVaYt)

October 27, 2020

Let m2_subset_1 : t=>t=-1=>0 be given. Let kl_numbers : ¢ be given. Let
k5_numbers : ¢ be given. Let k4_nat_1 : t=1=>1 be given. Let np__2 : ¢ be given.
Let k3_fib_num2 : ¢ be given. Let k2_nat_1 : :=t=-1 be given. Let np__1: ¢ be
given. Let m1_subset_1 : t=-1=>0 be given. Let k1_z fmisc_1 : 1= be given. Let
v2_zaxreal 0 : 1=-0 be given. Let vl_zboole_ 0 : t=-0 be given. Let k4_ordinall : ¢
be given. Let v7_ordinall : t==>0 be given. Let k3_zcmplx 0 : t=1=>1 be given.
Let k2_zemplz 0 : 1=1=1 be given. Let v3_ordinall : t=>0 be given. Let
vliint_1: =0 be given. Let vl_abian : t=-0 be given. Assume the following.

VX0.VX1VX2.((X0 e X1)A(ml_subset_1 X1 (kl_zfmisc-1 (1)
X2)))=(ml_subset-1 X0 X2)

Assume the following.

((v2_zzreal 0 np__2)A(m2_subset_1 np_2 k1l_numbers k5_numbers))A
((m1_subset_1 np_2 k5_numbers)\(ml_subset_1 np_2 k1_numbers))

Assume the following.

((v2_zzreal 0 np__1)A(m2_subset_1 np__1 kl_numbers k5_numbers))A
((m1_subset_1 np__1 k5_numbers)\(ml_subset_1 np__1 k1 _numbers))

Assume the following.

VX0.VX1.((—vl_zboole 0 X0)A((—vl_zboole.0 X1)A
(ml_subset_ 1 X1 (kl_zfmisc.1 X0))))=(VX2.(m2_subset_1 (4)
X2 X0 X1)e(ml_subset-l X2 X1))

Assume the following.
kb_numbers = k4_ordinall (5)

Assume the following.

VX0.¥X1.((ml_subset_1 X0 k5_numbers)A(v7_ordinall (6)
X1))=(k4nat1 X0 X1 = k3_xemplz 0 X0 X1)



Assume the following.

VX0.¥X1.((ml_subset_1 X0 k5_numbers)A(v7_ordinall (7)
X1))=(k2nat_1 X0 X1 = k2_xemplz 0 X0 X1)

Assume the following.
(=wvl_zboole 0 k4_ordinall)A(v3_ordinall kd_ordinall) (8)
Assume the following.

VX0.((vlint-1 X0)A(vlabian X0))=(-vl_abian (k2_xcmplz0

X0 np__1)) (9)

Assume the following.
—wl_zboole 0 k1 numbers (10)

Assume the following.
VX0.(vlint_1 X0)=(vl_abian (k3_zcmplz0 np_2 X0)) (11)

Assume the following.
ml_subset_1 k5_numbers (kl_zfmisc_1 kl_numbers) (12)

Assume the following.
ml_subset_1 k3_fib_num?2 (kl_zfmisc_1 k5_numbers) (13)

Assume the following.

k3_fib_num2 = ReplSep (toset (AXO0 : t.m2_subset_ 1 X0 k1 _numbers
k5_numbers)) (AXO0 : t.True) (AXO0 : v.k4d_-nat_1 np_2 X0)

(14)

Assume the following.
VX0.(m1_subset-1 X0 kd_ordinall)=(v7_ordinall X0) (15)

Assume the following.
VXO0.(v7-ordinall X0)=(vlint_1 XO0) (16)

Theorem 1

VX0.(m2_subset_1 X0 kl_numbers k5_numbers)=-((kd-nat_1
np_-2 X0 € k3_fib_num2)A(—k2-nat_1 (kd-nat_1 np_2 X0) np__1 € k3_fib_num?2))



